12828 19:30

o—k A

F— LB Ab—2 4 DSC |work

EMFT = 3 185.4] 185.4

7L &= 74 74.0
12H38 19:00

—bk C

F—LB Ak—> a8 DSC [work

Mt.NEKO 7 96| 96.0

B X = 185.4| 185.4
12848 19:00

o—k B

F— LB Ab—2 DSC [work

ZEARTH 0 SEHA

H£f-CMC 0 FEHR
12848 19:00

— o]

F—LB Ak—> 5 DSC |work

F—LWE = 1] 185.4| 1854

2 IN—4 = 1| 185.4] 185.4
12H6R 19:30

o—k A

F—L% Ab—2 2 4 K DSC |work

Hh—YH)E 5 2 185.4] 1854

ISV H—F—X|[E 84| 840
12H8A 19:30

o—k A

F— LB Ab—2 2 4 DSC |work

HIOKI = 2 2 6] 63.3] 63.3

RR = 452 452




